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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10
FRafRerRT RetERt T fm (R e wht)

(a) “An argument is merely a collection of
propositions.” Is it true?

“gbl P T Fegum o WR L

LB 36T 7
(b) On what depends, the validity of an
argument?
TR 3o R eofee AT 332
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Proposition,
oA T T b1 e o

(d) 1 A . )
valid argument .cgy, never have true

remi
p. mises and a fa]ge conclusion,”’

(Write True or False)

(e)

RE 5
‘%¢$?$R’m@ﬁ%¢fﬁsawﬁ€k§ﬁ$?

Wh_at is the n
conclusion of ,

0
ame of the subject of the
Syllogism?

TR P Sy

*PRBR 1 e

Which is t

form of : ) ciyl:lnbol that indicates the
Symbolic logic? Po!md Proposition in

TIF R
dﬁﬁvmﬂaqﬁngqsﬁmﬁ'”§k¢ e <o

(g
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( Continued )

.(h) Does

(i)

0)

(k)
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(3)

a variable contain a definite
meaning?
541 41 RIS @Il (AR = SR ?

Find out the alternative proposition from
the following :

oS [AART o[ (IofE oweo AR Sferea

(i) 1 eat rice or bread.
2 SO @ A |
(ii) Either he or I shall go.
€ TP I |
(iii) He is alive or dead.
¢ Qe w1 7O |
According to the rules of syllogism, if one

premise is negative, then conclusion will
be .

(Fill up the blank)

T SRR FE SpR, TR G SR 35
Fedld W, SR e _____ %9

(1T 51 *Re )

Is truth table a decision

procedure?

Torel Ol TEfS qbl GRS RS WA 2

method
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t4)

) In obversion, there is a change in the |

uali i
guam?r / quantity / both quality and
ty between premise and conclusion.

(Find out the correct answer)

(m) Mentiq
n )
one important relation between

symbolic logic ang traditional logic.
Ty T TS S
XY >t Sray 1 |
(n) ‘BOCARDQ .
A;RDO 2 valid mood of the
gure,
BOCARD o
0’
—— T b1 3y A
(1% 57 =1 <)

( Continued )

2. Answer briefly (any five) :
wee Tes i (R coreet «iwbi) -
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(S)

(a) Mention two characteristics of argument.

Re= 7o1 CafEs o 40

(b) State two differences between proposition
and argument.

T T IR TES 2 o1~ fors |

(c) Are A, E, I, O propositions categorical or
conditional? Which term is distributed in
a negative proposition?

A, E, I, O I7@R Reors @ sfieors 7 79ed3
/0 & oM AL 2

(d) Define one-predicate proposition with
example.

@3 Rewg® 51 Trrap ke T |

(e) Name the
Mathematica.

authors of  Principia
Principia Mathematica %37 149 A ?

(f) Define immediate inference with example.

THIZIPTR ST SeAma 55 7 |

s —

2x5=10
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(6)

(&) “He gave me a
binhday.n
‘Telatum’ of

. nice present in my
F“.ld out the ‘referent’ and
this Proposition,
“rod wf
a’img:ﬁmf“"‘h"‘m%m fafeet 1”7
SIF SR af e |
(h) What i
middle? the fallacy of undistributed

T G o

(i) Squar
thn of o2
B3 ﬁf@m < proposition

22A/1229

(7)

(c) Transform the following sentences into their
logical form of propositions : 1x5=5

oS il IER SRS I RS
¥_ql:
(i) Al that glitters are not gold.
Tl TIHR I8 G 7= |

(ij) Every man is liable to error.
afee TR T A |

(iii) Lions never eat grass.
2 fome < w1

(iv) Almost all people are present in the
meeting.

o e TR TS SoifFre et |

(v} Only intelligent students can pass the
examination.

@ YA YERRE e Taief 2’7
IR

(d) What is simple proposition? State different

types of simple proposition. 1+4=5
9 o7 FE QA 7 T /o [N AFER
& &, Sy w1
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(8)

(e) What is logical cons
between
variable,

tant? State differences

logical constant ang logical

( i

th .
e follqwmg Propositions - 2+3=5

RS P
W:W?W%W

(i) Al men are inortal
R N 2 e
(i) No mep is perfeét

@"Z’"’“’qu#u

iii
(iii) Some men are honest

%@W’“?Rﬂmil

" .
(h) Explain four-folq Scheme of pr
Oposition.
T VI CAster gy Ral

22A/1229
( Continued )

2+3=5

4. Answér the following questions (any four) :

PR srieaRs B i (R e wike) -

(a)

(b)

(c)

(d)

22A/1229

(9)

10x4=40

explain its
2+8=10

Define  syllogism  and
characteristics.

o vt fist ST 2R CAREETR I

What is figure of syllogism? Explain
different  figures of  syllogism with
examples. 2+8=10

G G SRS UG
RFSH STEFPRR I ¥ 1

Define a proposition, according to the
modern logicians. Describe different kinds

of compound proposition with examples.
2+8=10

e SRR WS, TR K
ToE TR e R P Qe <64

a0

What is obversion? Explain the rules of

obversion. 2+8-10

AT TR A7 AT FEETR TR
90

( Turn Over )

__



SO R AP SR
ﬁi? O
@%WSRWWW| K

( E l i
Y

(8) Explain the Process

10

(h)  Construct truth tap]
e

0 lp DQ)Dp]Dq
(ii) (p-q)v~(pvq)

22A/1229

( Continued )

( 11)

(i) Symbolize the following with the help of

logical symbols as used in propositional
logic : 2x5=10
TEE SREme I A o FORN
RS TS TS SO I faar
(i) ‘But’ .is truth functional, while
‘because’ is not truth functional.
Ry OFAYS, IO R
SoFaRe T |
(i) It is false that Lovlina Borgohain is
not an Indian boxer.

G301 P A SR AR @R
SRoN I8 = |

(iii) You will pass in the examination if
and only if you work hard.
oft RS o IR o e MR oR
I

(iv) It is untrue that students are not
intelligent.
T PTe) (4 T R R

(v) If it does not rain, then we shall go

for shopping. R
Ift /Y4 fAfiica, o3 AR

T |

( Turn Over )
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(12

() Elaborate the  differences between
deduction and induction. 10

RSP S SRR AT o7 SRR TR
feran

* Kk
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